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                   1(�����:  

�� ������ ا���آ�� ا����� ، ����
��ل � ����  .nm633=λذات 1-ل ا��-�0 زر.-,� +�
� ا�*(�)!  و)أو �%$ ر"�! (  �

  

�ع .-,�، آ�ن (B ا�����A أن ��?< 6%9 =�(� 0> د:��8 و������� 6%9 ��8%�7 �6ض ا��4�  

�-ل دون ذ�$  ا���-د �F BG�ه�ة � .  
8
�4�ه> 6%9 ا�4��� "����%A) !8���I�-�� �J�K)  �" L�ا�� !) <)�
�) L�ا��4ا�� . ��<
و�8< �>ة إ.�ءة ا�)8! آ%�� ا��

   .ا���-د�S�9 هLR ا�A�ه�ة �A�ه�ة .(B ا���آ� ����P Q?�ف ا��4 آ��)! .-,� وه�� 
�� �6> ا��
��ل =�T� �0         و�"�P�,دا�6%9 ( >?�� �%P :     

  
  

    �I: B) �(أآ �ه�I: �P�,دا �
8� 9%6 >?�������� 6%9 ا��-ا�� =%8�ت (A%�� وا�Vى (�J�Kا�� W��  .،و�
                 �"  B�����  .�6ض ا�)8
� ا���آ��P �Pداد آ%�� ��Y �6ض ا��4-:ا�

                          -��
 و�Pداد �6.�S�ء ا�-Kازداد 1-ل (-�0 ا� �آ%� >�.               
  : ا�����ر)2                  

 .)"� =��� ا���-د(6>م �[=�� ()>أا\��4�ر ا��K%� ���8�S-ء*�)�B ا�������ن ا�S���8�ن 

  
1)�
� (-��0 و* T� ء-Kد أن ا�-��  . ا���د�P ا�4��"� و"� ا���اغ آ�4��P$�R "� 0��! ا+و��طو�)�ز F�ه�ة ا�

 :زر 6)� ���� =�-د =�(� اbدرا) 3              

  
�� �?d ا�)8
� ا���آ��P ا�:]I� B) ا�θ �4ا���ق ا��اوى �]V B) <ه�ا��� �4 �Pه� ا��او .  

�"�S�"� ا� ���ا�4 !K�mD 5,1=   e,��� >�
�Sض  ذات ��8 و��
�� ا�%�f)a gh، S���� i�8� ����� >G� �(
8
� ا���آ��P ا��4�ه>ة 6%9 ا�4���Lا�
�ض (%� .    

  :0>ول ا��8���ت  
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 9��(: ���j< ا���
1

(
a

f=θ Q���  θ >j�� ق ا��اوي�� ��B و�W ا�)8
� ا���آ��P وأول �8
� (A%�� ا�

 

  
                 :�>�P�) 2(و) V B) )1[ل

D

L

a 2
=λ

  :�6ض ا�)8
� ا�K-,�� :يأ  

a

D
L

2×= λ
  

  
و���4 إ�9 أ��� :>  . أ:< و.-=�ا���-دوآ%�� آ��F l�ه�ة  آ%�� ���:7 �6ض ا�)8
� ا�a ��,-Kآ%�� ازداد �6ض ا��4  

 9%6 >?�   .λ آ�R$ إذا آ�ن �6ض ا��4 أآ)� (B ا��-0�ت ا�K-,��=�-د�

�F-�%):
PB6 �( ���= �" ق ا��اوي��:    �8h دا,�ي ���
[:� ا�
a

λθ 22,1=  

II��,-Kت ا��7 ا��-0,�?V:    
1(��S�1��Y)�� :ا�K-ء (-�0 آ
m4�P يRا� L-4ن ا��+، �.�
�S) �0-) ء-Kا� �(ه- 6�Y) ل���� �"�) �,�����S�1،أي أن ا�K-ء (-�0 �رة B6 (��ل آ

��S�I�Y)�� . T�G�P ا\��4�ر "� ا+و��ط ا���د�P ا�4��"� و"� ا���اغآ
:n��+ء ا-Kدي ا�%-ن و ا��ء ا+=-K2) ا�                                          

           *ا�K-ء ا+=�دي ا�%-ن : 
 W�-� �%
�P o يRر ، ا��ا\��4  υ ���دد�P L��� آ< إ�
�ع .-,� أ=�دي ا�%-ن   

�Vp 9ف إ���� Wو� B) T��8�6> ا�� ��Y�P oو.  

 

%� �-�W ا\��4�ر�P دي ا�%-ن�ء ا+=-K1-ل (-�0 ا� �ا���-ا��� 6)� =)< (�-��،(.���� ��G���G��ت ا��ا��-0 >j(  ��Y� �(<�6

 Wرو��4��oا ���Y�� أو T�-1 أو >(���.T ا4��o�ر �-����Y�� L ���6  آ�%� ا�P يRا���دد ا� �1-ل ا��-�0 ���� ��Y�P ������و�
�- oا�����ةا���)! ا�Rي ه- ا�4��ة "   W�-� �%
�Pر�4��oا.(  

         *n��+ء ا-Kء ا���,� أو:ا�-Kء ا���,� ا�-Kل ا��ا�%-ن ،و(� �Pد�ت أ=�6�
   ه- (�B) qP إ�

  
                                                               

  :���6 ا��4�ر ا�K-ء"� ا���اغ)3                                           
smc /103 8×=    ���6 ا��4�ر ا�K-ء "� ا���اغ ه�   :      

��ف  )4  � Wء "� و�-Kر ا��ر–���6 ا��4�SG�\ا >)�
):  
�� d%�f��Vb Wو� B) ء-Kر ا���6 ا��4.  

smv:أو ا���اغ "�j[ ���6 ا��4�ر ا�K-ء "� ا��-اء /103 8×=   
smv:          ���6 ا��4�ر ا�K-ء "� ا��0�ج  /102 8×=    
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smv:          ���6 ا��4�ر ا�K-ء "� ا���ء  /1025,2 8×=     

     

�(< ا�SG�ر هRا ا�-�W ���6 ا��4�ر ا� :������ �� �%
�� B�
) Wدي ا�%-ن "� و��ء ا+=-K.  

                      :��,-Kت ا��د ا��-0<(� (III 
1) �
�dP ا��-�-ر:                     

 
 S)(2�ر =�(� .-,�� ا=�د�P ا�%-ن 6)� (-�-ر  

�.- ر ��� ا���� ا,ول *(  )'،�%�$ أن ا����� #"!� د�� ا���ن ��� و�� ����ر���� ���� 
���� أ
.��� ا���� ا�6 �5 و#��4ف ��� 2 �1ة ا�/���ر  

 
.زاو�� ا��رود ��� ا���� ا,ول:  1i                   

       
21 rrA +=   زاو�� ا�/���ر:

11 sinsin rni =   �I)�� :��-ن  دGP�رت \�SG�را�K-ء6%9 ا�-T0 ا+ول �%�-�-ر:
 

22 sinsin irn =   �I)�� :��-ن دGP�رت \�SG�را�K-ء 6%9 ا�-T0 ا�j��� �%�-�-ر:
 
AiiD −+= 21 4%
�ع ا�-ارد �
> ا��0�زL �%�-�-ر:� �%Gاف ا���  زاو�P ا\�

 3) �)>د ا�K-ء �-ا�W (-�-ر:                                     
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�ع .-,� ا=�دي ا�%-ن.�\ �%Gس ا��G
  �Rآ��: ا\�SG�ر ا��>ي وا\�

v" 21ن ا�4
�ع) nn <  Wو� B) ء-K8< ا���P �)<�6 �)�6 ��( ا�SG�ر�P أي  أآ�j ا�SG�رة إ�9 و�Wأ:< �?  
�SG����8ب ا�P ��A�ا� B). ه�ة�F 9%6��,دا >?�� ����.  ا\�SG�رو"� هLR ا�  

  
ا�4
�ع ا���v"�SGن    21 nn > Wو� B) ء-K8< ا���P �)<�6 BG��jأآ Wإ�9 و� �Pر�SGا�  �Pر�SGأي  أ:<ا�  

l
i (�P<= ورود �Pاو�� �(S���� °= 902i  <
�(P��A��ا� B) . ي<�أي (و��?< 6%9 ا\�SG�ر ا�

90sinsin 21 nin =
l

 

1

2sin
n

n
i =
l T�)و :  

l: إذا آ��l زاو�P ا�-رود 
ii ≤1 9%6 >?�  .ا\�SG�ر  �

l: وإذا آ��l زاو�P ا�-رود 
ii >1 9%6 >?��  �%Gس ا��G
  . 6%9 ا��> ا�G���ا\�
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